Multiplicar Tres Polinomios (E)

Ot

Simplifique cada expresion.

=8y (—6y° — 3y* — Ty*)(5y + 5)

—2p*(—6p* — p? + 4p)(—7p* — p?)

3. (=0 + 9b® — 26%)(—2b" + 2b° + 76%)(—4b* — 3b* — b)

(—3¢" — ¢°)(8g9 — 6)(99° — 6" + 3¢°)

(R* = 9R*)(2R® — TR?) (4R — 8h* 4 9R?)
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Multiplicar Tres Polinomios (E) Respuestas

Simplifique cada expresion.

1. —=8y*(—6y° — 3y — Ty*)(5y + 5)
— 240y 4 360y + 400y® + 280y"

2. =2p*(—6p® — p? + 4p)(—Tp* = p°)
= —84p'Y — 26p” + 54p® + 8p”

3. (=b 907 — 2b%)(—2b" + 207 + Tb?)(—4b® — 3b7 — b)
— —8bM + 74p'0 — 287 — 261° — 13607 — 170° + 140°

1 (=3¢" — ¢°)(89 — 6)(99° — 69" + 3¢)
= —216¢"" + 234¢° — 78¢°® — 69" + 184°

5. (h* — 9h3)(2h* — Th*)(4Rh® — 8h* + 9R?)
= 8h'? — 116A" + 470R'Y — 72917 + 56TH®
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